
SM/PRO

     SM/PRO - SPARE PARTS LIST v3.0 05/2017

 No. Qty. Desc. Ref.
 1 1 Base Plate WP-SMP/01
 2 1 Lower Top Plate WP-SMP/02
 3 1 Top Plate WP-SMP/03
 4 1 Rear Material Slide WP-SMP/04
 5 1 Letterbox Slide WP-SMP/05
 6 1 Router Base Plate WP-SMP/06
 7 2 Machine Screw Csk M8 x 45mm Socket S/S WP-SMP/07
 8 6 Machine Screw Csk M8 x 65mm Socket S/S WP-SMP/08
 9 1 Locating Pin 10mm WP-SMP/09
 10 2 Nut Square M6 x 5mm WP-NUT/25
 11 2 Rear Material Slide Stop WP-SMP/11
 12 2 Lobe Knob Male M6 x 10mm WP-SMP/12
 13 4 Lobe Knob Male M8 x 16mm WP-SMP/13
 14 1 Follower Pin 4mm WP-SMP/14
 15 6 Foot M12 x 8mm WP-SMP/15
 16 2 Nut Hex Half M8 WP-NUT/16
 17 2 Handle Star 40mm WP-SMP/17
 18 6 Plastic Spacer 8mm x 32mm x 25mm WP-SMP/18
 19 2 Plastic Spacer 8mm x 10mm x 25mm WP-SMP/19
 20 4 Plastic Spacer 8mm x 50mm x 25mm WP-SMP/20
 21 1 Comb Assembly Stop End 1 Hole WP-SMP/21
 22 1 Comb Assembly Stop End 3 Hole WP-SMP/22
 23 2 Comb Assembly Stabilizer Bar WP-SMP/23
 24 406 Comb Finger S/S WP-SMP/24
 25 2 Knob Star M5 Female Comb Assembly WP-SMP/25
 26 6 Rubber Grip Strips Self Adhesive WP-SMP/26
 27 1 Lobe Knob M8 & Ball End Cap Assembly WP-SMP/27
 28 1 Comb Alignment Tool WP-SMP/28
 29 1 Adjustable Stop Plate Kit WP-SMP/29
 29A 2 Screw Wood 5mm x 30mm Csk Pozi® WP-SCW/126
 30 1 Comb Assembly Complete WP-SMP/30
 31 1 Cutter 4mm x 40mm x 100mm x 1/4 HSS SMC/02X1/4HSS
 31A 1 Manual MANU/SM/PRO

       TENON SLIDE PLATE SM/TSP 

 32 1 Tenon Plate SM/TSP
 33 1 Clamp Bar  WP-SMP/33
 34 2 Machine Screw Csk M6 x 6mm Socket S/S WP-SMP/34
 35 1 Cranked Short Arm Hex Key 4mm/5mm A/F WP-SMP/35

       MOUNTING KIT SM/MKP 

 36 4 Stepped Bush M8 x 58mm x 24.5mm WP-SMP/36
 37 4 Coach Bolt M8 x 60mm WP-SMP/37
 38 8 Nut Hex Full M8 WP-NUT/08
 39 4 Washer 12mm WP-WASH/21

Please use only Trend original spare parts.

-17-



SM/PRO

-18-

6

14 19

8

7

11

13

13

12

15

18

8

8

2

18

5 20

7

24

13

21

13

22

8

12

23

11

20

20

25

9

15

15
17

16

17

16

15

18

26

28

10

1

3

20

18

8

4

SM/PRO
23

27

31

31

3234

35

37

33

36

38

29

30

SM/PRO - SPARE PARTS DIAGRAM
Please use only Trend original spare parts.

v3.0 05/2017

Tenon Slide Plate Accessory

Mounting  
Kit Accessory

SM/MKP

SM/TSP


